## Low Levels of p27 in Association With Deregulated p53-pRb Protein Status Enhance Tumor Proliferation and Chromosomal Instability in Non-Small Cell Lung Carcinomas

Efthymia Tsoli,<sup>1</sup> Vassilis G. Gorgoulis,<sup>1</sup> Panayotis Zacharatos,<sup>1</sup> Athanassios Kotsinas,<sup>1</sup> George Mariatos,<sup>1</sup> Nikolaos G. Kastrinakis,<sup>1</sup> Stavros Kokotas,<sup>1</sup> Panayotis Kanavaros,<sup>2</sup> Panayotis Asimacopoulos,<sup>1</sup> John Bramis,<sup>3</sup> Dimitris Kletsas,<sup>4</sup> Athanasios G. Papavassiliou and Christos Kittas<sup>1</sup>

<sup>1</sup>Department of Histology and Embryology, School of Medicine, University of Athens, Greece

<sup>2</sup>Department of Histology, School of Medicine, University of Thessalia, Larissa, Greece.

<sup>3</sup>1st Department of Surgery "Laiko" Hospital, School of Medicine, University of Athens, Greece

<sup>4</sup>Laboratory of Cell Proliferation & Ageing, Institute of Biology, NCSR "Demokritos," Greece

<sup>5</sup>Department of Biochemistry, School of Medicine, University of Patras, Greece

Contributed by A. Papavassiliou. Accepted February 20, 2001

### Abstract

**Background:** Down-regulation or overexpression of the cyclin-dependent kinase inhibitor p27 have been observed in a range of malignancies, including lung cancer. To further elucidate the role of the molecule in tumor growth regulation, we evaluated p27 expression in a series of non-small cell lung carcinomas (NSCLCs), and examined its relation with histology, kinetic parameters, ploidy, and overall survival. We extended our investigation into the association of p27 levels with the presence of Ki-*ras* mutations, as well as with the expression status of p53 and pRb in tumor cells.

**Material and Methods:** p27, p53, and pRb status were immunohistochemically evaluated in a total of 69 NSCLCs. In situ assays were employed to assess the kinetic parameters (Ki-67 immunohistochemistry for proliferation index, Tdt-mediated dUTP nick end labeling assay for apoptotic index). The ploidy status of the tumors was assessed after staining nuclei with the Feulgen procedure, and the presence of Ki-*ras* mutations was examined by restriction fragment length polymorphisms. All possible associations were assessed with a series of statistical methods.

**Results:** Immunoreactivity for p27 was observed in the entire series of specimens, with the mean percentage of positive cells being 33%. Adenocarcinomas (AdCs) exhib-

Introduction

Complexes composed of cyclins and cyclin-dependent kinases (CDKs) have been shown to control cell-cycle progression through an ordered series of events. In this regulatory process, cyclin-dependent

ited higher p27 levels compared to squamous cell carcinomas (SqCCs) (p < 0.01). An inverse correlation was established between p27 expression and proliferation index (PI) (r = -0.834, p < 0.01) but not with apoptotic index (AI), whereas an uploid tumors were characterized by lower p27 levels than diploid ones (p < 0.01). No difference in p27 immunostaining was observed with regard to the presence of Ki-ras mutations, whereas aberrant p53 and/or pRb expression patterns were associated with p27 underexpression (p < 0.01 for p53 status, p < 0.05 regarding pRb levels, and p < 0.01 for a combined deregulation of both proteins). Two or more alterations in the p27/p53/pRb protein network (i.e., p27 levels lower than the estimated mean value, overexpressed p53, and/or aberrant pRb) were associated with increased PI and aneuploidy (p < 0.001 and p < 0.01, respectively). A powerful trend was found between p27 expression and overall survival (p = 0.066).

**Conclusions:** Our findings confirm the heterogeneity between AdCs and SqCCs, and are suggestive of an increased proliferative activity in NSCLCs underexpressing p27. Furthermore, our analysis supports the concept of p27 forming a functionally compact network with p53 and pRb, which is actively involved in the regulation of cellular proliferation and chromosomal stability.

kinase inhibitors (CDKIs), which inactivate the aforementioned complexes, are classified into two families according to their structural and functional characteristics. The INK4 family of CDKIs contains p16, p15, p18, and p19/20, which form binary complexes with CDK4 and/or CDK6, as well as D-type cyclins. The second family, designated the CIP/KIP group, includes p21, p27, and p57, which are able to inhibit all types of CDKs. These proteins, also known as "universal" CDKIs, appear to control cel-

Address correspondence to and reprint requests to: Vassilis G. Gorgoulis, Antaiou 53 Str., Lamprini, Ano Patisia, Athens, Greece, GR-11146. Phone: +3-01-6535894; Fax: +3-01-2928349; E-mail: histoclub@ath.forthnet.gr

lular proliferation by blocking cell-cycle progression in response to various anti-mitogenic signals (1).

Overexpression of p27 has been demonstrated in quiescent cells, whereas proliferating cells are characterized by lower levels of the protein (2). The gene encoding p27 has been mapped at 12p12-12p13.1 (3) and its product inhibits the function of cyclin E–CDK2 complexes, and represses the transcriptional activation of the cyclin A gene, thus resulting in G1 arrest (4,5). These features of p27 imply that it may act as an oncosuppressor protein. Loss of p27 expression seems not to result from genetic alterations (3,6). Protein levels are mainly regulated post-translationally via ubiquitin-mediated proteolysis (2,4). Recently, the participation of activated Ras in this process has been suggested (7).

Over the last 5 years, down-regulation of p27 expression has been demonstrated in a number of neoplasms, such as endocrine tumors, breast, colorectal, and ovarian carcinomas, and non-Hodgkin's lymphomas, and is proposed as a poor prognostic factor (Reviewed in Lloyd et al. [1]). In lung cancer, low levels of p27 have been reported in non-small cell lung carcinomas (NSCLCs) with various positivity percentages and immunostaining patterns (8–13), whereas in small cell lung carcinomas (SCLCs), p27 has been found up-regulated (9).

The latter observation, along with a current study demonstrating high levels of p27 expression in a subset of aggressive B-cell lymphomas, contrasts the postulated role of p27 as a tumor suppressor protein (14). Furthermore, Shoji et al. (11) have reported an association of p27 with Ki-67 in lung adenocarcinomas (AdCs), suggesting that p27 may, in some cases, act as a positive regulator of proliferation.

In view of these controversial findings, we comprehensively investigated the relation of p27 expression with the proliferative, apoptotic, and ploidy status of the tumors, as well as the presence of *ras* mutations, in a series of 69 NSCLCs. We also examined whether alterations in the cell-cycle regulators p53 and pRb correlate with p27 protein levels, and evaluated the impact of combined aberrant patterns on tumor kinetics and chromosomal stability. To the best of our knowledge, a similar study has not been conducted thus far.

### **Materials and Methods**

#### **Tissue Samples**

A total of 69 NSCLCs were obtained from surgically treated patients in less than 15 min. Snap frozen samples in liquid nitrogen stored at  $-70^{\circ}$ C, and formalin-fixed and paraffin-embedded (FFPE) material was available. The patients had not undergone any chemo- or radiotherapy prior to surgical resection, thus avoiding up- or down-regulation of cell cycle proteins due to DNA damage (15). The material comprised 33 adenocarcinomas (AdCs) 31 squa-

mous cell carcinomas (SqCCs), and 5 undifferentiated large cell carcinomas (ULCs). Consecutive 5  $\mu$ m paraffin sections were obtained from each tumor specimen for immunohistochemical evaluation. Representative hematoxylin-eosin stained sections from each tumor lesion were examined by histopathologic examination to confirm that all tumor samples contained 60% or more tumor cells. Tumors were classified according to the World Health Organization criteria and TNM system (16). The clinicopathologic features of the patients are presented in Table 1.

#### *Immunohistochemistry*

ANTIBODIES. For immunohistochemical analysis the following antibodies (Abs) were used: SX53G8 (class: IgG1 mouse monoclonal antibody [Mab], immunogen: GST-p27<sup>Kip1</sup> fusion protein) (Dako, Athens, Greece), MIB-1 (class: IgG1, mouse monoclonal, immunogen: Ki-67 nuclear antigen) (Oncogene Science, Biodynamics, Athens, Greece), LM95.1 (class: IgG mouse Mab, immunogen: pRb) (Calbiochem, Athens, Greece), DO-7 (class: IgG2b mouse Mab, immunogen: residues 1-45 of p53) (Dako).

METHOD. Immunohistochemistry was performed according to the indirect biotin–streptavidin–hyperoxidase method, as previously described (17). All antibodies were used in a 1:100 dilution.

CONTROLS. To discriminate false positive from positive background cells, we performed an additional control assay in which each immunostaining assay step was sequentially eliminated.

### EVALUATION.

*p27* For scoring p27 expression, tumor cells stained at the nucleus were considered positive and the percentage of p27 positive cells in the whole tumor region was assessed.

*Ki-67* Tumor cells were evaluated as positive when nuclear staining, without cytoplasmic background, was observed. Proliferative index (PI) was estimated as the percentage of Ki-67 positive cells in 7–10 high power fields (HPF) (total counted cells: about 1000).

*pRb* Cytoplasmic reactivity was disregarded and only nuclear staining above any cytoplasmic background was considered as evidence of protein expression. The samples were divided into two categories: normal (No), in which more than 90% of the tumor nuclei were stained, and abnormal (Ab), when there was absence of nuclear staining in a portion of (heterogeneous) or in the entire (homogeneous) tumor section. In addition, admixed nonneoplastic cells showed nuclear reactivity. A mosaic

# Table 1. Summary of p27, Ki-ras, pRb and p53 status, kinetic parameters, ploidy and clinicopathologic features

Patient	p27 Status (%)	Ki-ras Mutations	pRB Status	p53 Status	PI (%)	AI (%)	GI (%)	Ploidy	Histology	LN	Stage	Survival Status (Months after surgery)
1	25	1	Ab	р	31.1	4.8	6.5	Α	AdC	yes	III	3
2	N/A	no	N/A	N/A	NI	NI	NI	NI	SqC	yes	III	21
3	50	no	No	n	28.3	1.6	17.7	Α	SqC	no	Ι	37*
4	8	no	Ab	р	NI	NI	NI	Α	ULC	no	Ι	0
5	30	N/A	No	р	32.8	6.3	5.2	Α	AdC	yes	III	12
6	20	N/A	Ab	р	45.6	0.6	76.0	Α	SqC	yes	II	35*
7	50	N/A	No	р	27.2	1.2	22.7	Α	SqC	yes	II	35*
8	38	N/A	No	р	31.0	1.4	22.1	D	AdC	no	Ι	34*
9	43	no	Ab	р	30.3	2.0	15.2	D	AdC	no	Ι	35*
10	20	no	No	р	40.6	1.8	22.6	Α	ULC	yes	II	9
11	28	no	No	р	36.0	0.7	51.4	Α	SqC	no	Ι	34*
12	32	N/A	Ab	р	29.5	0.9	32.8	Α	SqC	no	Ι	35*
13	38	no	No	р	32.8	NI	NI	D	SqC	yes	III	8
14	27	no	Ab	р	38.5	1.3	29.6	Α	SqC	yes	III	8
15	19	2	Ab	р	40.6	1.1	36.9	Α	SqC	no	Ι	34*
16	68	no	No	р	4.6	0.8	5.8	D	AdC	no	Ι	7
17	28	no	No	р	27.3	1.2	22.8	NI	SqC	no	II	34*
18	19	no	No	р	43.6	4.8	9.1	D	SqC	yes	II	11
19	28	no	No	n	NI	10.6	NI	D	AdC	no	Ι	34*
20	46	no	No	n	24.6	3.5	7.0	D	SqC	no	Ι	34*
21	30	no	No	n	34.5	NI	NI	D	SqC	yes	III	1
22	44	1	No	n	46.6	1.5	31.1	D	AdC	no	Ι	34*
23	50	no	Ab	n	26.7	2.6	10.3	D	AdC	yes	II	18
24	58	2	No	р	26.7	0.8	33.4	NI	SqC	no	Ι	N/A
25	42	no	Ab	n	21.3	1.4	15.2	D	AdC	no	Ι	33*
26	36	no	No	р	29.2	0.1	292.0	Α	AdC	yes	II	17
27	68	no	Ab	n	13.3	3.5	3.8	NI	AdC	yes	II	14
28	25	no	Ab	р	40.9	1.5	27.3	Α	SqC	no	Ι	33*
29	21	no	Ab	р	43.4	2.7	16.1	Α	ULC	yes	III	0
30	38	1	No	n	28.8	5.2	5.5	D	ULC	no	Ι	32*
31	53	no	No	n	21.2	3.0	7.1	D	AdC	no	Ι	10
32	47	N/A	No	n	26.4	0.7	37.7	Α	AdC	yes	III	30*
33	20	N/A	Ab	n	40.7	0.8	50.9	Α	SqC	no	Ι	14
34	38	N/A	Ab	n	34.7	0.5	69.4	D	AdC	no	Ι	32*
35	31	N/A	Ab	р	29.2	0.8	36.5	Α	AdC	yes	II	17
36	29	N/A	No	n	28.8	99.0	NI	Α	AdC	yes	III	10
37	60	no	No	n	28.9	3.2	9.0	Α	AdC	yes	II	12
38	32	N/A	No	р	39.3	3.0	13.1	Α	SqC	yes	III	30*
39	8	no	No	n	54.0	0.9	60	D	SqC	yes	III	9
40	33	N/A	No	n	31.0	NI	NI	Α	ULC	no	Ι	18
41	31	N/A	No	n	38.0	0.5	76.0	Α	SqC	no	Ι	30*

Table 1. (Continued)

Patient	p27 Status (%)	Ki-ras Mutations	pRB Status	p53 Status	РІ (%)	AI (%)	GI (%)	Ploidy	Histology	LN	Stage	Survival Status (Months after surgery)
42	15	no	No	р	43.8	0.6	73.0	Α	SqC	yes	III	30*
43	42	no	No	n	21.4	3.5	6.1	Α	AdC	yes	II	30*
44	43	1	No	n	22.3	0.7	31.9	Α	AdC	yes	III	14
45	21	1	No	n	32.9	8.9	3.7	D	AdC	yes	II	27
46	22	no	No	n	NI	NI	NI	D	AdC	no	Ι	29*
47	8	no	Ab	р	54.4	0.5	108.8	Α	SqC	no	Ι	25
48	19	no	Ab	р	44.0	0.5	88.0	D	SqC	no	III	14
49	25	no	Ab	n	36.9	NI	NI	D	AdC	no	Ι	29*
50	54	2	No	n	18.1	1.4	12.9	D	AdC	yes	II	27
51	52	no	No	n	20.0	2.9	6.9	D	AdC	yes	II	15
52	30	N/A	No	р	39.0	0.6	65.0	Α	SqC	no	III	29*
53	25	no	Ab	р	51.2	2.6	19.7	Α	SqC	yes	III	15
54	31	1	No	n	32.2	3.1	10.4	NI	SqC	no	Ι	28*
55	25	no	Ab	р	43.3	0.8	54.1	Α	AdC	yes	II	10
56	30	1	Ab	р	47.3	0.4	118.3	Α	SqC	yes	II	11
57	32	no	Ab	р	40.0	1.8	22.2	Α	SqC	yes	III	8
58	25	no	Ab	р	46.0	0.6	76.7	Α	AdC	yes	II	26*
59	33	1	No	р	30.4	NI	NI	Α	AdC	no	Ι	25
60	20	1	Ab	р	38.6	1.0	38.6	Α	AdC	yes	III	23
61	40	2	No	р	24.5	1.1	22.3	D	AdC	yes	III	26*
62	25	N/A	No	n	41.4	1.4	29.6	Α	SqC	no	Ι	13
63	N/A	no	Ab	р	50.6	1.0	50.6	Α	AdC	no	III	25*
64	33	no	Ab	р	39.3	1.6	24.6	D	AdC	no	Ι	25*
65	10	no	Ab	р	70.4	0.7	100.6	Α	SqC	yes	II	22
66	30	2	No	n	33.3	2.3	14.5	Α	SqC	yes	II	3
67	51	no	No	р	20.2	0.6	33.7	D	AdC	no	Ι	24*
68	8	no	No	р	59.1	2.1	28.1	Α	SqC	yes	II	21
69	30	no	No	р	NI	0.9	NI	Α	AdC	yes	II	23

Abbreviations: N/A, data not available; no mutations; 1, mutation at codon 12; 2, mutation at codon 13; NI, non-informative; Ab, aberrant expression; No, normal expression; p, positive expression; n, negative expression; PI, proliferation index; AI, apoptotic index; GI, growth index; A, aneuploid; D, diploid; SqC, squamous cell carcinoma; AdC, adenocarcinoma; ULC, undifferentiated large cell carcinoma; LN, lymph node invasion; \*, patient still alive.

pattern of staining with absence of immunoreactivity in a proportion of tumor cells was not interpreted as abnormal (18,19).

*p*53 Tumors were considered p53 positive when more than 20% of the tumor cells showed nuclear staining and the remaining tumors were scored as negative (18,19). Slide examination was performed by three independent observers (VG, PZ, CK). Interobserver variability was minimal (p < 0.01 by  $\chi 2$  test).

#### Ki-ras Mutation Analysis

RNA EXTRACTION AND cDNA PREPARATION. Total RNA was extracted from tissues with TriZol reagent (Life Technologies, Anti-Sel, Athens, Greece) following manufacturer's instructions. Quantity and quality of RNAs was assessed by spectrophotometry and agarose gel electrophoresis (20). Two micrograms of total RNA were reverse transcribed with oligo-dT (NEB, BioLine, Athens, Greece) and 200U MMLV reverse transcriptase (Life Technologies, Anti-Sel) according to supplier's instructions. KI-RAS MUTATION DETECTION. Codons 12 and 13 of Ki-ras were screened for mutations in our database. Briefly, polymerase chain reaction (PCR) was performed on cDNA by introduction of artificial Restriction Fragment Length Polymorphism (RFLP) sites for detection of codon 12 mutations, whereas the most common mutation at codon 13 (Gly to Asp) was detected by employing a naturally occurring RFLP (21). The cell lines SW480 (human colon carcinoma) and MDA-MB231 (human breast cancer) carry Ki-ras mutations at codons 12 and 13, respectively, and were used as positive controls for Ki-ras mutation analysis (see Kotsinas et al. [21] and references therein).

### TDT-MEDIATED DUTP NICK END LABELING ASSAY

*Method* Double-strand DNA breaks were detected by Tdt-mediated dUTP nick end labeling (TUNEL) assay according to the procedure proposed by Gavrieli et al. (22).

*Controls* As negative control, tissue sections incubated with TdT buffer without enzyme were used. As positive control, tissue sections incubated with DNAse I for 45 min prior to treatment with TdT were used.

*Evaluation* Cells were considered to undergo apoptosis where nuclear staining, without cytoplasmic background, was observed. Apoptotic index (AI) was estimated as the percentage of apoptotic cells in 7–10 HPFs (total counted cells: about 1000). Slide examination was performed by three independent observers (VG, PZ, CK). Interobserver variability was minimal (p < 0.01 by  $\chi 2$  test).

### DNA Ploidy Analysis

Mетнор. The samples were stained using the Thionin-Feulgen procedure (21).

EVALUATION. The measuring procedure was performed using the Optipath TV-based image analysis system (Meyer Instruments of Houston, Houston, Texas, USA) equipped with a microscope and a video CCD camera. As internal reference control, lymphocytes or granulocytes were used. In each analysis, approximately 100 control and 350 tumor cells were measured. To distinguish nondiploid from diploid cells, an upper limit of 2.5 c was set for diploid values. Because the fraction above 2.5 c might include proliferating diploid cells, we also calculated the fraction of tumor cells with DNA values above the 5 c level, which exceeds those of proliferating diploid cells. Cases with more than 5% of cells with DNA content above 5 c were considered as aneuploid, as previously described (23).

### Statistical Analysis

We used the logarithms of the apoptotic and growth indexes (GI: the ratio of PI to AI) to normalize the variables. The possible relations between p27 and PI, AI, or GI were assessed by the parametric Pearson's test. Differences in p27 labeling indices (LIs) between tumors with different histologic, ploidy, lymph node, p53/pRb, and ras mutational status were analyzed by the t-test. Association between p27 levels with tumor stage and the p53/pRb status was estimated by analysis of variance (ANOVA). For multiple comparisons among alterations of the p53/pRb status and p27 levels, as well as among aberrations in the entire protein network and the kinetic parameters of the tumors, the Scheffe test was performed. Finally, the association between ploidy and alterations in the above network was estimated by the  $\chi^2$  test, and the Kaplan-Meier methodology was employed for assessing the survival curves of the parameter examined in the present study. All analyses were performed with the SPSS statistical package on a personal computer. Differences were considered significant when p < 0.05.

## RESULTS

## *Correlation of p27 Expression With Clinicopathologic Features*

Immunoreactivity for p27 was found both in normal and cancerous cells. The signal was mostly nuclear and cytoplasmic staining observed in some cases was not evaluated (Fig. 1A). Normal bronchial epithelial cells, as well as infiltrating lymphocytes, exhibited strong immunostaining and served as internal positive controls. In some well-differentiated AdCs, imunoreactivity was lower at the center of tumor nodules, whereas in SqCCs, p27 expression was often higher toward the central tumor regions (Fig. 1B). The mean percentage of cells expressing p27 was  $32.7 \pm 13.96\%$ in the examined tumors (range 8–68%). The difference in p27 levels between AdCs and SqCCs was highly significant (mean value  $38.94 \pm 13.21\%$ versus 27.47  $\pm$  12.40%, respectively; p < 0.01). p27 immunostaining was not associated with lymph node metastases or the stage of the tumors (Table 2).

## *Correlation Between p27 Expression, Kinetic Parameters, and Ploidy Status of the Tumors*

The proliferative activity of tumor cells was assessed by Ki-67 immunohistochemistry. The MIB-1 antibody recognizes a nuclear non-histone protein, which is expressed throughout the cell cycle, but not in G0, thus providing a representative marker of proliferation (24). The mean percentage of positive cells for Ki-67 in the cancerous areas was  $34.8 \pm 11.29\%$ . An inverse correlation between p27 immunoreactivity and PI was



Fig. 1. Representative results of p27 immunohistochemical staining. Streptavidin–biotin–peroxidase technique with the SX53G8 anti-p27 antibody (DAB as chromogen, see "Materials and Methods) and hematoxylin counterstain. (A) Adenocarcinoma (case 59) with intermediate p27 staining (33%) ×400. Large, thick arrow indicates a stained tumor nucleus; small, thick arrow shows a stained lymphocyte nucleus. Thin arrow points out a stained fibroblast nucleus. (B) Squamous cell carcinoma (case 24) with high p27 staining (58%) ×200.

		Number	p27 Mean Value	р
Histology	AdCs	32	38.94 ± 13.21	
				0.001
	SqCCs	30	$\textbf{27.47} \pm \textbf{12.40}$	
Ploidy	Aneuploid	39	$28.33 \pm 11.59$	
				0.007
	Diploid	24	$37.50 \pm 14.07$	
LN	Yes	36	$31.75 \pm 14.33$	
				0.558
	No	31	$33.77 \pm 13.67$	
Tumor stage	Ι	28	$\textbf{34.64} \pm \textbf{14.04}$	
	II	21	$33.76 \pm 16.47$	0.309
	III	18	$28.39 \pm 9.86$	
pRb status	Aberrant	26	$27.73 \pm 13.05$	
-				0.02
	Normal	41	35.83 ± 13.75	
p53 status	Positive	39	$28.97 \pm 13.03$	
-				0.009
	Negative	28	$37.86 \pm 13.78$	
Ki-ras mutations	Yes	14	$34.71 \pm 12.14$	
				0.582
	No	38	$32.05 \pm 16.36$	
p53pRb status	Normal	22	$37.14 \pm 13.01$	
~ ~	1 alteration	25	$35.80 \pm 15.30$	0.002
	2 alterations	20	23.90 ± 8.79	

## Table 2. Relationship between p27 expression, clinicopathologic parameters, pRb status, p53 status andKi-ras mutations

Abbreviations: AdCs, adenocarcinomas; SqCCs, squamous cell carcinomas.



**Fig. 2.** Adenocarcinoma (case 9) with moderate apoptotic index. Tdt-mediated dUTP nick end labeling assay (TUNEL) (DAB as chromogen, see "Materials and Methods") and hematoxylin counterstain ×200. Arrow indicates an apoptotic nucleus.

observed (r = -0.834, p < 0.01) for all NSCLCs, irrespective of the histologic type (r = -0.749, p < 0.01 for AdCs and r = -0.823, p < 0.01 for SqCCs). Furthermore, the mean AI was 2 ± 1.97% (a representative result of TUNEL assay is shown in Fig. 2). No correlation was observed between p27 expression and AI, either in the entire set of tumors or in any of the histologic groups examined.

The mean GI value was  $38.2 \pm 44.09\%$ , with a significant inverse correlation being established between GI and p27 immunostaining for the entire group of tumors (r = -0.470, *p* < 0.01). Interestingly, when histologic types were separately analyzed, the correlation remained statistically significant for SqCCs (r = -0.454, *p* < 0.05), but not for AdCs. The correlation coefficients between p27 expression and the kinetic parameters of the tumors are presented in Table 3.

Table 3.Correlation coefficients between p27expression frequencies and kinetic parametersof tumors

Tumor kinetic parameters	AdCs	SqCs	All specimens
Proliferation index	-0.749**	-0.823**	-0.834**
Apoptosis index	-0.020	0.201	0.119
Growth index	-0.362	-0.454*	-0.470*
* $p < 0.05$ . ** $p < 0.01$ .			

Thirty nine of 63 p27-informative tumors (61.9%) were scored as an euploid, and were characterized by significantly lower p27 levels than diploid ones (28.33  $\pm$  11.59% versus 37.50  $\pm$  14.07%, respectively; *p* < 0.01; see Table 2).

## Association of p27 Levels With Ki-ras Mutations, p53, and pRb Expression Status

Ki-*ras* mutations were detected in 14 of 52 p27-informative tumors examined (26.9%) (Table 1, Fig. 3). No relation was observed between p27 immunoreactivity and the presence of such mutations.

Aberrant pRb expression was detected in 26 of 67 p27-informative tumors (38.8%), with p27 levels being significantly lower in specimens with aberrant than normal pRb status (27.73 ± 13.05% versus  $35.83 \pm 13.75\%$ , respectively; *p* < 0.05; see Table 2). Moreover, overexpression of p53 (statistically associated with p53 mutation) (18,19) was found in 39 out of 67 p27-informative tumors (58.2%). Specimens overexpressing p53 correlated with reduced p27 levels compared to negative tumors for p53 expression (28.97  $\pm$  13.03% for p53-positive versus 37.86  $\pm$ 13.78% for p53-negative specimens, p < 0.01; see Table 2). Concerning the combined p53/pRb status, p27-informative tumors were classified into three groups. The first group, possessing no aberrations, contained 22 specimens (32.8%). The second group, showing one alteration in either pRb or p53 status, included 25 cases (37.3%). The third group, exhibiting alterations of both pRb and p53, consisted of 20 (29.9%) specimens. p27 levels were significantly lower in specimens of group 3 compared to the other two (mean difference  $-13.24 \pm 3.98\%$ , *p* < 0.01 for the first and  $-11.90 \pm 3.87\%$ , *p* < 0.05 for the second group by ANOVA; see Table 2).



**Fig 3. Representative results of Ki-ras mutation (codon 12) analysis.** M, 100 bp ladder; C, control PCR fragment before digestion (357 bps). Lanes 1, 2, 3, 5, and 6: BstNI restriction fragment length polymorphism (RFLP) results from tumor samples (cases 19, 20, 21, 23, and 24, respectively) without codon 12 mutations (305 bps). Lane 4: BstNI PCR RFLP results of case 22 harboring a codon 12 Ki-ras mutation (335 bps).

## *Relations of p27/p53/pRb Expression Patterns With the Kinetic Parameters and Ploidy Status of the Tumors*

With regard to the number of alterations in the p27/p53/pRb protein network (i.e., p27 levels lower than the estimated mean value, mutant p53, and aberrant pRb status), tumors were divided into four groups, harboring no or one to three aberrations. Specimens with two and three alterations were characterized by a significantly increased PI, compared to tumors with one or no alterations (Table 4). No differences were observed in the AI values among the four groups examined. Moreover, GI was significantly higher in specimens with three alterations compared to specimens with no alterations (mean difference  $-0.52 \pm 0.15$ , p < 0.05 by ANOVA; Table 5). Ploidy was also associated with deregulation of the above network (p < 0.01 according to  $\chi^2$ ) (Table 5).

#### Survival Analysis

During the course of this study (maximal follow up, 37 months; median follow up, 24.5 months), 35 failures and 29 censored cases were recorded. In this analysis, all patients died of disease; two patients who died during surgery (cases 4 and 29) were excluded. Also, we had no survival data for case 24 and no p27 data for cases 2 and 63; therefore, the analysis was performed with 64 patients. Furthermore, we had no access to data regarding postoperative treatment that could help us in this analysis. The use of the p27 median value as a cut off point revealed a powerful trend (p = 0.066). In the first group, 32 patients were included with p27 expression up to 30%; 11 of them were censored and 21 died (mean and median survival time, 21 months). In the second group, 32 patients were included with p27 expression higher than 30%; 18 were censored and 14 died (mean and median survival time, 27 and 25 months, respectively).

Table 4. PI differences between alterations in the<br/>p27-p53-pRb network

		Altera	tions	
	0	1	2	3
Alterations				
0	_	2.95	12.66*	16.71**
1	2.95	_	9.72*	13.76**
2	12.66*	9.72*	_	4.05
3	16.71**	13.76**	4.05	—
* <i>p</i> < 0.05.				

\*\**p* < 0.001.

## Discussion

In an attempt to evaluate the impact of p27 expression on tumor growth, we investigated the relation of p27 levels with the kinetic parameters and ploidy status of a series of 69 NSCLCs. To further elucidate the tumorigenic mechanisms at the cellular level, we also examined whether immunoreactivity for p27 correlated with the presence of *ras* mutations or the expression status of p53 and pRb.

Detectable p27 immunostaining was observed in all specimens, with the mean percentage of positive cells being 32.7%. Furthermore, 59.7% and 40.3% of the carcinomas were characterized by lower and higher values, respectively. Similar percentages have been reported by Yatabe et al. (9). In the majority (83.6%) of tumors, fewer than 50% of cells were found to express p27, in accordance with the study by Catzavelos et al. (12). Contrasting our

	PI		AI		GI		Plo	oidy	
Alter.	N Mean value p		N Mean value p		N Mean value p		Aneup	. Dip. <i>p</i>	
0	12 26.47 ± 7.55		11 0.31 ± 0.29		11 1.09 $\pm$ 0.32		6	6	
1	$21 \ 29.41 \pm 9.99$		$18 \ 0.13 \pm 0.47$		$17\ 1.34\pm 0.49$		7	13	
		< 0.0001		0.214		< 0.05			0.002
2	13 39.13 ± 7.73		13 $0.18 \pm 0.33$		$12 \ 1.38 \pm 0.35$		9	4	
3	$17\ 43.18\pm 9.86$		$17\ 0.02\pm0.30$		$17 \ 1.61 \pm 0.34$		17	1	

Table 5.	Association between	alterations in the	p27-p53-	pRb network,	tumor kinetics,	and pl	loidy
			· · · · · · · ·	p		p	

Abbreviations: N; number of samples; PI, proliferation index; AI, apoptotic index; GI, growth index; Alter., alterations; Aneup., aneuploidy; Dip., diploidy.

results, Esposito et al. (8) reported a fraction (11%) of NSCLCs exhibiting no p27 expression at all, and the mean percentage of p27-positive cells estimated by Kawana et al. (13) was considerably lower than ours, possibly due to tumor sample variability and the antibody used. We mainly obtained nuclear staining; cytoplasmic signals were also observed in some cases and may be associated with the loss of tumor suppressor genes like tuberin (25) or with binding to transcriptional activators, such as Jab1 (26).

Underexpression of p27 represents a frequent finding in human malignancies (1). Furthermore, targeted inactivation of the protein results in hyperplasias of multiple organs and tumorigenesis in vivo (27). Down-regulation of p27 rarely occurs due to point mutations or homozygous deletions (3,6,28), whereas DNA hypermethylation has been shown to predominantly control p27 expression in pituitary cancerous cell lines (29). Translational control may also contribute to the regulation of p27 abundance in contacted inhibited cells and cells undergoing differentiation (30,31), while the principal mechanism involves ubiquitin-mediated proteolysis following p27 phosphorylation (2). Notably, phosphorylation of the protein by cyclin E-CDK2 has been observed in murine fibroblasts, suggesting that this cyclin-CDK complex may promote p27 degradation during cell-cycle progression (4). Moreover, it has been postulated that targeted phosphorylation of p27 by ERKs, which represent well-established Ras effector molecules, may mediate the effects of mitogenic stimuli upon the cell cycle (2). In agreement with this notion, studies in growth factor-stimulated cell lines have demonstrated the involvement of Ras in down-regulation of p27 during late G1, thus allowing entry into the S phase (7). Nevertheless, we found no association between ras mutations and p27 expression, in accordance with the results of Catzavelos et al. (12). Our findings suggest no interference of Ras with p27 activity in NSCLCs.

A significantly lower percentage of cells expressing p27 was observed in SqCCs compared to AdCs. Although decreased p27 levels have been reported in SqCCs (9,10), others have failed to demonstrate a significant difference between the aforementioned histologic types (8). However, the varying expression status of p27 exhibited by different histologic subtypes of thyroid (32), ovarian (33), endocrine (34), and colorectal carcinomas (35), as well as non-Hodgkin's lymphomas (36), indicate a potential importance of the protein in distinguishing between malignancies with different biological behavior. Furthermore, we found no relation of p27 immunostaining with the presence of lymph node metastases or tumor stage, in accordance with most studies (8,12,13).

A significant correlation was established between GI and immunoreactivity for p27 (r = -0.470, p < 0.01) for the entire group of specimens. This correlation was sustained for SqCCs (r = -0.454, p <0.05), but not for AdCs; the GI determinant of proliferation was significantly correlated with low percentages of p27 only in the SqCC group, whereas the apoptotic determinant, which is discussed later, was similar in both groups. The specific biological profiles of these two NSCLC subtypes may further account for this difference (37). Moreover, according to our results, p27 may represent another discriminating factor between AdCs and SqCCs. Positivity for p27 and Ki-67 was inversely correlated (r =-0.834, p < 0.01), an observation confirming the results of Kawana et al. (13). Studies conducted in lymphoid, oral, and endocrine tumors (34,38,39) have also yielded similar findings, pointing toward a selective growth advantage of cells underexpressing p27. However, such a correlation has not been established for colorectal and breast carcinomas (35,40,41). Of particular interest is the observation of Shoji et al. (11) that in well-differentiated lung AdCs, immunostaining patterns of p27 and Ki-67 are similar, with expression mostly occurring in the periphery of tumor nodules, in cells possessing an increased proliferative activity. It has been suggested that the association between high cellular p27 levels and increased proliferation may be partially justified by the function of the protein as an assembly factor for the mitotic cyclin A-CDK2 complexes (11) or by the accumulation of inactive p27 in its complexes with cyclin D (14). The latter hypothesis was initially proposed to explain high p27 expression in aggressive B-cell lymphomas (14) and is further reinforced by the observation that cyclin D1transfected cells may enter S phase without a detectable change in p27 protein levels (4).

In a recent study performed on the same series of lung biopsies, we demonstrated that increased proliferation is associated with p53 mutations and/or aberrant pRb expression (19). We now report that combined deregulation of p27, p53, and pRb exerts a synergistic effect on proliferative activity (Tables 4 and 5), strengthening the suggested concept-delineated in Figure 4-that these cell-cycle regulators form a tight network (1,4,5,15,42,43). In the presence of one abnormality in this protein network, no deviation in the proliferating capacity was observed compared to the fully normal pattern (Table 4). However, upon the occurrence of a second "hit," proliferation activity increases significantly, reaching even higher levels in cases with the fully abnormal pattern (Table 4, Fig. 5). The putative mechanisms underlying our findings are the following. Downregulation of p27 (low percentages of p27 positive cells) permits cyclinD-CDK4,6-dependent phosphorylation of pRb (inactive pRb) resulting in S-phase entry (42 and references therein) and additionally releases transcriptional suppression of mitotic cyclin A by disrupting the cyclinE-CDK2/p107-E2F complexes (5). In case p53 is mutated [p53 positive staining (18,19)], its ability to indirectly inhibit cy-



**Fig. 4.** The p53-p27-pRb network. p53 indirectly (via Waf1) represses cyclin/cdk complexes (15,43) and thus enhances p27 levels (4,5). p27, as an inhibitor of the former complexes, also affects pRb phosphorylation status and S-phase transition (1,42).

clin-CDK complexes via p21WAF-1, in the stressogenic environment of tumors (e.g., hypoxia, free radicals) is impaired (15,43). One of the consequences of this impairment is accumulation of active cyclinE-CDK2 and consequent down-regulation of p27 (4). Finally, deletion of pRb (aberrant pRb expression) would further confer on proliferation, possibly by



Fig. 5. In a lung tumor cell, only one alteration (annotated \*) in the p53-p27-pRb network can be counterbalanced by the activity of the other network components (alternative pathways), whereas at least two alterations (annotated \*) are required for proliferation enhancement. See "Discussion" for details.

deregulating the expression of E2F targeted genes (42 and references therein).

Overexpression of p27<sup>Kip1</sup> appears to be more cytotoxic to cancer cells compared to that of p21 (44,45), with apoptosis being the putative mechanism underlying such cytotoxicity. However, we found no association between p27 expression and apoptotic index. Tenjo et al. (41) also reported the absence of a correlation between p27 and AI in colorectal AdCs, along with no relation between p27 levels and mt-p53 expression. They have thus suggested that apoptosis in colorectal AdCs is independent of p53 status. In a previous study, we showed that low AI was associated with mt-p53 expression in the same series of lung carcinomas (19). In the present study, we observed that reduction in p27 levels was accompanied with mt-p53. Hence, although the expression status of p27 seems linked to that of p53 in NSCLCs, it appears that p27 is not involved in p53-mediated apoptosis. In contrast to proliferation activity, the apoptotic index was independent of defects in the p27-p53-pRb network (Table 5). Studies in human cancer cell lines have revealed that overexpression of p27Kip1 may induce apoptosis through a p53-independent mechanism (45). Enhanced apoptosis has also been observed in p27-null mice, along with increased proliferation and matrix-protein accumulation, and has been related to high CDK2 activity (46). Levkau et al. (47) reported that cleavage of both p27Kip1 and p21<sup>Cip1/waf1</sup> by CPP32 or a CPP32-like caspase leads to their dissociation from nuclear cyclin-CDK2 complexes, with subsequent induction of CDK2 activity in apoptotic human endothelial cells. However, such an event could be tissue specific, and further studies are needed to elucidate the role of p27 in apoptosis.

Expression of p27 was less prominent in aneuploid than diploid tumors. This observation probably stems from the impact of p27 status on the proliferative activity of cancer cells. Because efficient DNA repair occurs during G1, forced entry into the S phase is expected to cause genetic instability. Shortening of the G1 phase may result in additional DNA damage, possibly due to inadequate formation of replication forks, insufficient levels of nucleotides, or diminished activity of ribonucleotide reductase (48 and references therein). The fact that aneuploidy was associated with the full abnormal pattern of the p27-p53-pRb network most likely reflects the effect of such alterations on cellular proliferation.

Finally, a strong trend was observed between the overall survival of the examined group of patients and p27 expression. This finding is in agreement with those of other groups which suggest that p27 may represent an independent prognostic factor for patients' outcome in lung cancer (8–10,12). Moreover, although Catzavelos et al. (12) found no statistical significance between p27 protein levels and overall survival, they considered p27 expression a prognostic marker by evaluating recurrence-free survival data.

In summary, we have shown that p27 expression correlates with histologic type, proliferation activity, and ploidy status, but not with apoptosis, in a series of NSCLCs. A strong trend was found between overall survival and p27 immunoreactivity. Low levels of p27 were associated with expression of mt-p53 and down-regulation of pRb, yet not with the presence of Ki-*ras* mutations. The most important observation was the cooperative effect of deregulated p27, p53, and pRb expression on tumor proliferation, further supported by the association of aneuploidy with defects in this regulatory network. Investigating the relations of p27 with other molecules implicated in cell-cycle control could enhance our understanding of p27 function in normal and tumor cells.

### Acknowledgment

This study was conducted in the Department of Histology and Embryology, School of Medicine, University of Athens, Greece and was funded in part by Greek GSRT research program EPET II 97, EKBAN 2-112, METRO 1.2, 70/3/4396.

## References

- 1. Lloyd RV, Erickson LA, Jin L, Kulig E, Quian X, Cheville JC, Scheithauer BW. (1999) p27<sup>Kip1</sup>: A multifunctional cyclin-dependent kinase inhibitor with prognostic significance in human cancers. *Am. J. Pathol.* **154**: 313–323.
- 2. Alessandrini A, Chiaur DS, Pagano M. (1997) Regulation of the cyclin-dependent kinase inhibitor p27 by degradation and phosphorylation. *Leukemia* 11: 342–345.
- 3. Ponce-Castaneda MV, Lee M-H, Latres E, et al. (1995) p27<sup>Kip1</sup> chromosomal mapping to 12p 12-12p13.1 and absence of mutations in human tumors. *Cancer Res.* 55: 1211–1214.
- Sheaff RJ, Groudine M, Gordon M, Roberts JM, Clurman BE. (1997) Cyclin E-CDK2 is a regulator of p27<sup>Kip1</sup>. *Gen. Dev.* 11: 1464–1478.
- Zerfass-Thome K, Schulze A, Zwerschkew W, et al. (1997) p27<sup>Kip1</sup> blocks cyclin E-dependent transactivation of cyclin A gene expression. *Mol. Cell Biol.* 17: 407–415.
- 6. Stegmaier K, Takeuchi S, Golub TR, Bohlander SK, Bartram CR, Koeffler HP. (1996) Mutational analysis of the candidate tumor suppressor genes TEL and KIP1 in childhood acute lymphoblastic leukemia. *Cancer Res.***56**: 1413–1417.
- 7. Takuwa N, Takuwa Y. (1997) Ras activity late in G1 phase required for p27<sup>Kip1</sup> downregulation passage through the restriction point, and entry into S phase in growth factor-stimulated NIH 3T3 fibroblasts. *Mol. Cell Biol.* **12**: 5348–5358.
- 8. Esposito V, Baldi A, De Luca A, et al. (1997) Prognostic role of the cyclin-dependent kinase inhibitor p27 in non-small cell lung cancer. *Cancer Res.* **57:** 3381–3385.
- 9. Yatabe Y, Masuda A, Koshikawa T, et al. (1998) p27<sup>Kip1</sup> in human lung cancers: Differential changes in small cell and non-small cell carcinomas. *Cancer Res.* **58**: 1042–1047.
- Ishihara S, Minato K, Hoshino H, Saito R, Hara F, Nakajima T, Mori M. (1999) The cyclin–dependent kinase inhibitor p27 as a prognostic factor in advanced non-small cell lung cancer: its immunohistochemical evaluation using biopsy specimens. *Lung Cancer* 26: 187–194.
- Shoji M, Dobashi Y, Morinaga S, Jiang S-X, Kameya T. (1999) Tumor extension and cell proliferation in adenocarcinomas of the lung. *Am. J. Pathol.* 154: 909–918.

- Catzavelos C, Tsao M-S, DeBoer G, Bhattacharya N, Shepherd FA, Slingerland JM. (1999) Reduced expression of the cell cycle inhibitor p27<sup>Kip1</sup> in non-small cell lung carcinoma: A prognostic factor independent of Ras. *Cancer Res.* 59: 684–688.
- Kawana H, Tamaru J, Tanaka T, et al. (1998) Role of p27<sup>Kip1</sup> and cyclin-dependent kinase 2 in the proliferation of nonsmall cell lung cancer. *Am. J. Pathol.* 153: 505–513.
- Sanchez-Beato M, Camacho FI, Martinez-Montero JC, et al. (1999) Anomalous high p27/KIP1 expression in a subset of aggressive B-cell lymphomas is associated with cyclin D3 overexpression. p27/KIP1- cyclin D3 colocalization in tumor cells. *Blood* 94: 765–772.
- 15. Prives C, Hall PA. (1999) The p53 pathway. J. Pathol. 187: 112–126.
- 16. Mountain C. (1997) Revisions in the international system for staging lung cancer. *Chest*111: 1710.
- Mariatos G, Gorgoulis VG, Zacharatos P, et al. (2000) Expression of p16*INK4A* and alterations of the 9*p*21-23 chromosome region in non-small-cell lung carcinomas: relationship with tumor growth parameters and ploidy status. *Int. J. Cancer* 89: 133–141.
- Gorgoulis VG, Zacharatos P, Kotsinas A, et al. (1998) Alterations of the p16-pRb pathway and the chromosome locus 9p21-22 in non-small-cell lung carcinomas: relationship with p53 and MDM2 protein expression. *Am. J. Pathol.* 153: 1749–1765.
- 19. Gorgoulis VG, Zacharatos P, Kotsinas A, et al. (2000) Altered expression of the cell cycle regulatory molecules pRb, p53 and MDM2 exert a synergetic effect on tumor growth and chromosomal instability in non-small cell lung carcinomas (NSCLCs). *Mol. Med.* 6: 208–237.
- 20. Sambrook J, Fritsch EF, Maniatis T. (1989) *Molecular cloning: a laboratory manual*.New York: Cold Spring Harbor Laboratory Press.
- 21. Kotsinas A, Spandidos DA, Romanowski P, Wyllie AH. (1993) Relative expression of wild-type and activated *Kiras2* oncogene in colorectal carcinomas. *Int. J. Oncol.* **3**: 841–845.
- 22. Gavrieli Y, Sherman Y, Ben-Sasson S. (1992) Identification of programmed cell death *in situ* via specific labelling of nuclear DNA fragmentation. *J. Cell Biol.* **119**: 493–501.
- 23. Hirano T, Franzen B, Kato H, Ebihara Y, Auer G. (1994) Genesis of squamous-cell lung carcinoma. Sequential changes of proliferation, DNA ploidy, and p53 expression. *Am. J. Pathol.* 144: 296–302.
- 24. Gerdes J, Lemke H, Baisch H, Wacker HH, Schwab U, Stein H. (1984) Cell-cycle analysis of a cell proliferation-associated human nuclear antigen defined by the monoclonal antibody Ki-67. *J. Immunol.* **133**: 1710–1715.
- 25. Sousek T, Yeung RS, Hengstschlager M. (1998) Inactivation of the cyclin-dependent kinase inhibitor p27 upon loss of the tuberous sclerosis complex gene-2. *Proc. Natl. Acad. Sci. U.S.A.* 95: 15653–15658.
- Tomoda K, Kubota Y, Kato J. (1999) Degradation of the cyclin–dependent-kinase inhibitor p27<sup>Kip1</sup> is investigated by Jab1. *Nature (Lond.)* 398: 160–165.
- Fero ML, Randel E, Gurley KE, Roberts JM, Kemp CJ. (1998) The murine gene p27 kip1 is haplo-insufficient for tumour suppression. *Nature* 396: 177–180.
- Kawamata N, Morosetti R, Miller CW, et al. (1995) Molecular analysis of the cyclin-dependent kinase inhibitor gene p27/kip1 in human malignancies. *Cancer Res.* 55: 2266–2269.
- 29. Qian X, Jin L, Kulig E, Lloyd RV. (1998) DNA methylation regulates p27 expression in rodent pituitary cell lines. *Am. J. Pathol.* **153**: 1475–1482.
- 30. Hengst L, Reed S. (1996) Translational control of p27 kip1 accumulation during the cell cycle. *Science* **271**: 1861–1864.
- Millard SS, Yan JS, Nguyen H, Pagano M, Kiyokawa H, Koff A. (1997) Enhanced ribosomal association of p27<sup>Kip1</sup> mRNA is a mechanism contributing to accumulation during growth arrest. J. Biol. Chem. 272: 7093–7098.

- Resnick MB, Schacter P, Finkelstein Y, Kellner Y, Cohen O. (1998) Immunohistochemical analysis of p27<sup>Kip1</sup> expression in thyroid carcinoma. *Mod. Pathol.* 11: 735–739.
- Masciullo V, Sgambato A, Pacilio C, et al. (1999) Frequent loss of expression of the cyclin-dependent kinase inhibitor p27 in epithelial ovarian cancer. *Cancer Res.* 59: 3790–3794.
- Lloyd RV, Jin L, Quian X, Kulig E. (1997) Aberrant p27<sup>Kip1</sup> expression in endocrine and other tumors. *Am. J. Pathol.* 150: 401–407.
- Palmqvist R, Stenling R, Oberg A, Landberg G. (1999) Prognostic significance of p27<sup>Kip1</sup> expression in colorectal cancer: a clinicopathological characterization. *J. Pathol.* 188: 18–23.
- 36. Kudoh S, Kumaravel TS, Kuramavel B, et al. (1999) Protein expression of cell cycle regulator, p27<sup>Kip1</sup>, correlates with histopathological grade of non-Hodgkin's lymphoma. *Jpn. J. Cancer Res.* 90: 1262–1269.
- Sekido Y, Fong KM, Minna JD. (1998) Progress in understanding the molecular pathogenesis of human lung cancer. *Biochim. Biophys. Acta* 1378: F21–F59.
- 38. Sanchez-Beato M, Saez AI, Martinez-Montero JC, et al. (1997) Cyclin-dependent kinase inhibitor p27(KIP1) in lymphoid tissue: p27(KIP1) expression is inversely proportional to the proliferative index. Am. J. Pathol. 151: 151–160.
- 39. Jordan RCK, Bradley G, Slingerland J. (1998) Reduced levels of the cell cycle inhibitor p27 Kip1 in epithelial dysplasia and carcinoma of the oral cavity. *Am. J. Pathol.* **152**: 585–590.
- 40. Tan P, Cady B, Wanner M, et al. (1997) The cell cycle inhibitor p27 is an independent prognostic marker in small (tla,t-b) invasive breast carcinomas. *Cancer Res.* **57**: 1259–1263.

- Tenjo T, Toyoda M, Okuda J, et al. (2000) Prognostic significance of p27<sup>Kip1</sup> protein expression and spontaneous apoptosis in patients with colorectal adenocarcinomas. *Oncology* 58: 45–51.
- Classon M, Salama S, Gorka C, Mulloy R, Braun P, Harlow E. (2000) Combinatorial roles for pRb, p107 and p130 in E2F-mediated cell cycle control. *Proc. Natl. Acad. Sci. U.S.A.* 97: 10820–10825.
- 43. El Deiry WS, Tokino T, Velculescu VE, et al. (1993) WAF1, a potential mediator of p53 tumor suppression. *Cell* **75**: 817–825.
- 44. Craig C, Wersto R, Kim M, et al. (1997) A recombinant adenovirus expressing p27<sup>Kip1</sup> induces cell cycle arrest and loss of cyclin-Cdk activity in human breast cancer cells. *Oncogene* 14: 2283–2289.
- 45. Katayose Y, Kim M, Rakkar ANS, Li Z, Cowan KH, Seth P. (1997) Promoting apoptosis: a novel activity associated with the cyclin-dependent kinase inhibitor p27. *Cancer Res.* 57: 5441–5445.
- Ophascharoensuk V, Fero ML, Hughes J, Roberts JM, Shankland SJ. (1998) The cyclin-dependent kinase inhibitor p27<sup>Kip1</sup> safeguards against inflammatory injury. *Nat. Med.* 4: 575–580.
- 47. Levkau B, Koyama H, Raines EW, et al. (1998) Cleavage of p21Cip1/Waf1 and  $p27^{Kip1}$  mediates apoptosis in endothelial cells through activation of Cdk2: role of a caspase cascade. *Mol. Cell.* 1: 553–563.
- Paulovich AG, Toczyski DP, Hartwell LH. (1997) When checkpoints fail. Cell 88: 315–321.